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Aun 4415 quariebwise, Arcl Asymn: Bearn ON, Laser OFF

Fun 4415 quanetwise. ISba2 Acym: Baam ON, Lasar OFF
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Flun 4415 guanebwise, DSbg2 Aspm: Baam ON, Lasar OFF

Flun 4415 quarnetwise, Side Fingar haym: Beam ON, Laser OFF

Flun 4415 quarnetwise, LISba1 Asym: Baam ON, Lasar DFF
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Flun 4415 quanatwise, DSba1 Asym: Baam O, Lasar DFF

Flun 4415 quanetwise. Tap Fnger Atyri: Baarm OM, Laser OFF
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Acc0 Asym (ppt):

209.68 +/- 271.12

USbg1 Asym (ppt): 2.94 +/- 2.58
USbg2 Asym (ppt): -1.08 +/- 1.20
DSbg1 Asym (ppt): -0.16 +/- 0.47
DSbg2 Asym (ppt): 0.41 +/- 0.44
Top Finger Asym (ppt): 2.07 +/- 1.11
Side Finger Asym (ppt): 0.43 +/- 0.85
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Run 4415, quartetwise: USbg1 vs time
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Run 4415, guartetwise: vertFing vs time
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Run 4415, quartetwise: USbg2 vs time
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Run 4415, guartetwise: DSbg2 vs time
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